

1. Write in Standard Form: $y = (x - 4)^2 - 13$

2. Simplify. $(2 + 3i)^3$

3. Fill in the blanks to complete the square.

a) $x^2 + 26x$ _____ $= (\text{_____})^2$

b) $x^2 - 11x$ _____ $= (\text{_____})^2$

1. Write in Standard Form: $y = (x - 4)^2 - 13$

2. Simplify. $(2 + 3i)^3$

$$y = (x - 4)^2 - 13$$

$$y = x^2 - 8x + 16 - 13$$

$$y = x^2 - 8x + 3$$

$$(2 + 3i)(2 + 3i)(2 + 3i)$$

$2 + 3i$	
2	$2 + 3i$
4	$+6i$
$+3i$	$+6i$
$+9i^2$	$= -9$
$-5 + 12i$	

$$(-5 + 12i)(2 + 3i)$$

$-5 + 12i$	
2	$-5 + 12i$
-10	$+24i$
$+3i$	$-15i$
$+36i^2$	$= -36$

$$-46 + 9i$$

3. Fill in the blanks to complete the square.

a) $x^2 + 26x$ +169 = ($x + 13$)²

b) $x^2 - 11x$ $+\frac{121}{4}$ = ($x - \frac{11}{2}$)²